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DAQ set
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PMT# HV

S M1-01
71 M1-02
120 M1-03
61 M1-04
52 M1-05
219 M1-06
44 M1-07
217 M1-08
64 M1-09
170 M1-10
38 M2-01
209 M2-02
178 M2-03
91 M2-04
83 M2-05
114 M2-06
12 M2-07
16 M2-08
96 M2-09
82 M2-10
143 M2-11
122 M2-12
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Noise rate
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elec-ch PMT# # of hits
I 91 4
4 83 5
56 64 6
57 217 2639
96 16 119
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99 82 I
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156 40 3
|57 5 4
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159 44 |5
160 52 33
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PMT#217 (zoom)
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PMT#44 : | 5hits

hit.qéc() frunmede=s 1 SAhit gmi(Je=4a88hit type(]==0}

hit.qéc() (runmodes=154he pmi{je=4454hit type(]==1}

NS SN SR B B S BN S T LN LI B B A B S B B S S e . -
htemp 1L — _— htemp | __
Entries 12 3 Entries 3| |
Mean 7712 C Mean 801.3
RMS 27.46 i RMS 4497
107 3
1 107 3
10°F 5
740 760 780 800 820 796 798 800 802 804 806 808
hit.qdc[] hit.qdc[]
hit.qdc{] {runmode==0A ANt pmt[)==448 40t type[)*=0) hit.qdc{] {runmode==0L ANt pmt{]==448 40t typa(J==1)
4T ™ TT ™ T LI S S S S S | 4T T T T ™17 L . -
10 5 I ‘ ] htemp |3 10 é_ ' ' htemp
H Entries 10000 | C Ertries 10000
Mean 7035 _ 103n Mean 7285
RMS 263 : RMS 354

A LLLE

720 740

760 780 80
hit.qdc[]

PN
o

740 760 780 800 820 840
hit.qdc[]

Gate open

Pedestal

11E9HA3H 1L EH

10



PMT#82 : | hits
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Mean noise rate (<-10mV)

elec-ch PMT# # of hits | Rate[Hz] Nexp
I 91 4 800 0.0064
4 83 5 1000 0.008
56 64 6 1200 0.0096
57 217 2639 527800 | 4.2224
96 16 119 23800 0.1904
97 143 20 4000 0.032
98 96 | 4 2800 0.0224
99 82 I 200 0.0016
101 12 31 6200 0.0496
156 40 600 0.0048
|57 5 4 800 0.0064
158 6l 33 6600 0.0528
159 44 |5 3000 0.024
160 52 33 6600 0.0528

Time = 500ns*1000*10 = 5ms
Rate = total nhits / time

Nexp = 8usecD — KN TD
v NERRFEL = Rate * 8psec
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RMS of pedestal
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RMS of pedestal
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